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- Introduction

One of Africa’s most interesting and unique animals is the warthog. But probably because of

its appearance, this animal is considered by many people to be one of Africa’s least appealing
creatures. The warthog can be classified as a Suidae; other members of the same biological family
include the domestic pig and the warthog’s closest living relative, the wild pig. Male warthogs are
called boars, females are sows, and its young are piglets.

- Physical characteristics

The name warthog refers to the four large protrusions on its face, below the eyes. These bumps,
which are not warts but cartilage (a type of soft bone), are more prominent on males and can be
up to 15 centimetres long. They are used for defence, protecting their eyes and jaws when fighting
each other or a predator. Warthogs can weigh 50120 kilograms and are 1-1.5 metres in length.
The males are considerably larger than the female. Like pigs, they are almost hairless. They have a
thin mane on their neck and back and a thin tail with a tuft at the end which is held up when they
run. They range in colour from brownish-grey to black.

- Habitat

Although they like to forage in moist, dense areas and often wallow in mud holes, warthogs usually
live in open woodland and survive well in drier environments. Despite being well able to dig
burrows themselves using their head, tusks and feet, they usually inhabit burrows abandoned by
aardvarks and other animals. They enter their burrows back end first so they can emerge at a fast
run, avoiding any predator lurking around the burrow entrance.

- Diet
Warthogs are omnivores, eafing grasses, bulbs and roots, berries, fruits, bark, fungi, eggs, small

mammals, reptiles and birds. They have short necks so they often kneel on their front legs in an
unusual and distinctive way when they eat.

- Breeding

Warthogs have from 2-8 piglets and their life span is up to 15 years. The males tend fo live alone
but two or three sows and their offspring will live together in a group called a ‘sounder’.
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Their excellent sense of smell enables warthogs to find food and to detect predators. It compensates

for their poor eyesight. They will huddle together to keep warm as their hairless skin offers poor
protection from the cold.

Warthogs are fast runners which enables them to flee from most predators. When attacked or while
fighting each other, their two pairs of curved tusks and sharp, pointed teeth can be formidable
weapons. Their main predators are lions, leopards, crocodiles, hyenas, cheetahs and humans.
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Protrusions in Paragraph 2 means
things that:

(a) jutout.

(b) protect.

[c) are products.

The main idea of Paragraph 2 is

to provide an explanation of what
warthogs:

(a) use for defence.

(b) look like.

(c) weigh.

It is an opinion, not a fact, that
warthogs are:

(a) ugly.

(b) found in Africa.

[c] related to domestic pigs.

Warthogs enter their burrow
backwards so they can:

(a) get away fast.
(b) see better.

[c) protect their young.
Why would warthogs feel the cold

more than some animals?
(a) They live in Africa.
(6] They don'’t have a hairy coat.

(c) Their burrows are not deep
enough.

Which group could be found in a

‘sounder’?

(a) a boar, a sow and some piglets

(b) two sows, two boars and some
piglets

(c) piglets and three sows

You could predict from the text that

warthogs would be most likely to

keep their young:

(a) near a waterhole.

(b) inside a burrow.

(c) ina forest.

Warthogs are different from domestic

pigs because they:

(a) live in burrows.

(b) have piglets

[c) aren’t hairy.

You could conclude that warthogs use

aardvark burrows because they:

(a) can’t make any for themselves.

(b) don’t want to make their own.

[c) are really poor diggers.

The text could best be summarised as a

report about warthogs telling:

(a) what they eat, where they eat and
how they eat.

(b) what they look like, where they
live and what they do.

(c) about their predators and how
they fight and protect themselves.

The text was written to give:

(a) instructions.

(b) information.

(c) an opinion.

A warthog'’s front knees would look
dirty because it:

(a) loves wallowing in mud.

(b) has hairy knees.

[c) kneels to eat.

You could conclude from the text that if
a warthog is confronted by a predator,
it usually:

(a) can profect itself.
(b) needs to run away.
[c) has to stay and fight.

The pronoun it in Paragraph 6 is used
instead of their:

(a) poor eyesight.
(b) sense of smell.

(c) food.

e a partner that a warthog would make a really good pet.
) support your argument.




